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Note: (i) Thereareinall 17 questions in this question paper. All questions are compulsory.
i) QuestionNo. | is multiple choice type. Question No. 2 to 6 are definite answer type questions.

Question No. 7 to 11 are of very short answer type which are to be answered in about 50 words.
Question No. 12 to 14 are short answer type which are answered in about 150 words
each. Question No. 15 1o 17 are long answer type which are to be answered in about 300 words
each.

@) Marksallotted to each question are mentioned against them.
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(Multiple Choice Type Questions)
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Four options are given in each part of the question. Write the correct option in your answer book —

(A) When total utility is maximum, then marginal utility is -

(i) Positive (i) Negative
(i) Minimum (iv) Zero
(B) ‘Better Farming, Better Business and Better Living’, Who said it -
(i) Katju (i) Horace Plunkett
(i) A.D.Gorwala (iv) Jems Peeter
(C) Which of the following is apex bank for Rural Finance -
(i) Reserve Bank (i) Co-operative land development Bank
(i) Regional Rural Bank (ivy NABARD
(D) When is World Forest Day celebrated — http://www.ukboardonline.com
@i 21st March (i) 5thJune
(i) 15th July (iv) 18th July
(E) Who gave the concept of ‘Modern Theory of Intemational Trade’ -
(i) Walras (i) Ohlin
(i) Pareto . (iv) Cassel

e ST =
(Definite Answer Type Questions)

I - A R G P I AL I

Give a definition of Interest.

3. orgTTEdar e & srefure i ar aef € 7

What is the meaning of the term ‘Want’ in economics ?
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4. Rorel fra RerRu @ sefure € ?

To which school of thought does Ricardo belong ?
5. ‘d~quit aeFr &1 W e ad gen 7

In which year * Annapurna Yojana’ started ?
6. ‘d—HmH T o ?

What is ‘e-commerce’ 7

fy oy ST v
(Very Short Answer Type Questions)

7. TTET REn & ] AEE qargd |

Give two means of Rural Education.
g wmifee afodie € g gar g ® 7

What do you mean by social mobility 7
9. T & FAGRO & a1 A fafag |

Give two benefits of mechanisation of Agriculre.
10. 3EET WIS BT w1 AHGF & ?

What do you mean by *Disguised Unemployment’ ?
1. 9Ra ¥ waen o aar fadman & ?

What are the characteristics of population in India ?

Y IO U
(Short Answer Type Questions)

12, AOR @ fawaR B WG R A SRS BT Ieord B |

Mention the factors affecting the extent of market.
13. SRy B frgw Scarea @ W & § AR IR 8 1 W i |

"The law of diminishing retums is applicable in all fields of production.’ Explain.
14, ‘o W & fore Suged gwg {i |

Give suitable suggestions for ‘Conservation of Water’.
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(Long Answer Type Questions)

At & Fram @) we B | /101 @) @ @ @ 9 1 B A o wgfa @i g €2
HHEEY | 6

Elucidate the law of demand. Why does the demand curve tend to slope from left to right ? Describe

A4l (OR)

s fnmro A I T gHSa € 7 39S 01 vd Q6T BT gHSEC |
What do you understand by Division of Labour ? Explain its merits and demerits.

IO B dEd W MU T GEHIS & ¢ SUNIGl @ gud P g HEd B 0 W
FIfrd | 6

What do you mean by consumer’s surplus ? What is the importance of consumer’s surplus 7 Clarify.

31447 (OR)

L URE A R B BRI @ FHe Y a1 T §HE B 9ueE gq Sfad Ul

EQLER
Discuss the causes of unemployment in India and suggest suitable measures to solve this problem.

ARd § B W B v W9 #a1 § ? ofY # W faw waven @t yfer o aoiE
BHIfY | 6

What are the main sources of agricultural credit in India ? lllustrate the importance of institutional agencies in
agricultural credit.

3114T (OR)

yra ¥ 7ol Rem &g dF-oF | FrEmd e T € ? Weg A aofa difrg
What programmes have been taken for the rural development in India ? Describe in brief.
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